THEAW Fl AL 2 8 G BRSNS T (22 G 155
TEHS e ] U e o] T2 X R L1860




%

o

HLAY

g

o8
2

TH B

THE




L # fli &% W&

4 PR =4 A BANL 4 % fid
ERETEE
L T 1
X
2. WETH 1
%
H¥ETHEE §
Homgy
(1) I
1
X
(2) BLG & PR
1
.
(3) — & B
1
X

Tl B




B

O T F B BHHRIA®R

i o B R |HfE o -
LoFTax T 1
"
2. fETH 1




B O T F 8 PRHERINR

OB & T bR OB & o |H] @ 4 i
T L (D) ZE TR Rk
1
"
() ZZ 5 7 1kl
1
"
(3) ZERRCE R
1
"
(4) B e a
1
"
(5) B VRl
1
"
(6) B BRI
1




B O T F 8 PRHERINR

ZE TR R i
BB 4 R B 4 B ¥ & |HA 4 %A i
WETHE kfli% 15
1




OB T % & MERINGER

ZERBEE R BB (1) %R R
4 Zi T % B & HAr Bl & #H fi
AC-1 i)
SMVTALFRZETREE  |WmEtes) o7, OkY BEFEAES) : 47. Ok 1
6, 800m3/h &
FC-B1-1 RAHLATE
Ty vaAfia=y h\BEES 5. 36kW BEEAES 9. T9kW 2
=)
FC-B1-2 KHNy b2J5 1AW
Tyvaf o=y hWHEES 2. 02kW BEFEHET : 4. 13kW 2
=)
FC-B1-3 KHNy bT7 1AW T
Ty rvaAfia=y h\BEES 3. T0kW BEEHES) : 6. 80kW 6
=)
FC-B1-4 Km0 m
Ty vadf o=y hEWEES : 2.58kW BEFEHET : 4. T9KW 1
=)
FC-B2-1 KHNy b2J5 A
Ty rafa=y \RERES ;3. 08kW BEERET) : 5. 93kW 9
=)
FC-B2-2 RA-HLATR
Ty rafa=y b \RERES 3. T0kW BEERET) : 6. 80kW 1
=)
FC-B2-3 BV b A
Ty rafa=y \RERES 1 3.67kW BEERET) : 6. T6kW 2
=)
FC-B2-4 KHNy bJ5 1A Y
Ty rafa=y b \RERES 3. T0kW BEERET) : 6. 80kW 1
=)
FC-B2-5 KHNy b2J5 A Y
Ty rafa=y bNREES 2. 02kW BEERET) ;4. 13kW 1
=)
FC-C-1 KHNy b2J5 A Y
Ty raAfa=y b\RERES ;3. 08kW BEEREJ) : 5. 93kW 5
=
FC-C-2 KAty b2J5 1A Y
Ty rvafa=y b\REES 2. 02kW BEERET) ;4. 13kW 6
=
FC-C-3 BV b A
Ty rvaAfia=y h\BHEES : 7.22kV BBREES 13, 52kW 3
=
FC-C—4 KAty b2J5 1A Y
Ty rafa=y b\RERES : 3.92kW BEEREJ) : 8. 00kW 3
=
FC-C-5 BV b A L
Ty rafa=y RERES : 3.67kW BEEREJ) : 6. T6kW 1
=
FC-C-6 KHNy bJ5 1A H Y
Ty rafa=y b\BERES 1 5. 36kW BEERES) 9. T9kW 1
=
ON * OFFaypn=7
4
=
e ATEAT fRffide 1
1
&
FRER TR A2 fffi 2
1
&
2




BB T F O AR
e 3R A Hrax L @) Z=/{E 7 MR
4 PR T % B & BANL
AN ATWET )b 150mm
(RFEY 1) 3
AN ATV )b 200mm
(RES 1) 69
m
AR V2N 250mm
(FES 1) 16
AN ATV )b 300mm
URES 1) 11
m
WA O GV 350350
1
&l
NN | BL 1000L
4
18
R O CL 2000L
2
&l
= = LB [VHS 200X 200
1
18
L= N— LR [VH 350 X350
1
&l
SV IF 47— |E2 $#20
=] 18
18
JEEFHER & 28— (200 ¢
(VD) 2
1
250
2
1
HKAR Y 7 A
1
X
FRIB T
1

EM

a




i

Al 5 5P

R

Hrax T

(3) Z= AL B fif

]

=

o &

HAL

iff

& #

(I 1RK)

P P bR SR A

(F)

BN

20A

433

B b SR M

=)

BN

25A

18

P P bR SR
(F)

BN

32A

16

Bl b SR N

=)

BN

40A

24

B e 3R 5 A

(F)

BN

68

B bR RN
(H)

[

65A

36

B P B R 5 A

(F)

B - BHET

65A

18

22

Pk - mE )
ikt =g
(VP)

BN

25A

138

BEK - WER )
Akt =g
(VP)

B

32A

66

HEK - BEER Y
HAke =i
(VP)

Bk

40A

30

BEK - WER )
Akt =g
(VP)

B

HEK - BEER Y
HAkE Vi
(VP)

Btk - EET

BEK - R )
Akt =g
(VP)

B - (T

40A

Hek « AR )
WAk =i
(VP)

Btk - EET

50A

Pk - )
HAbE v
(Vp)

EAMELE

Hek « AR )
WAk =i
(VP)

Hurp o

(FEX)

— P Bc A
ATV VASTIEI

Bk =R - (AT

25A

9.6




OB T % & MERINGER

e 3R A Hrax L (3) ZEFRbc & 3%

4 PR T W B & HAL 4 #H fisi =
=R L 32A RAfizE  F%-9
N4 1

&l

MK 0 200mm
1) ™

[in=IbE 20A

(BF&Eop) 109| f#
10K
[in=IFis 25A
(Bh8kT7) 4|
10K
[in=IbE 654
(BF&ETp) 2| M
10K
ZHFpAEEEY  |25A
@E/':E& s LT 1 el
(&)
kB Y 65A
Bl - LT 1]

(HIRAK)

YEA FL—F— [20A
1
1
HE)= 7 &5 |20A
1
&l
R
2
1
1R
2
1
kT 25A
1
1
Btk 65A
2
TVEYTT W aqvh |20A
1) ™
TVEYTT VYT Ay b 25A
1| 1
fiftize 5
IR T 1
oV
fRifiZe 6
IEo 0 fliE 1
=
fRffize 7
i 7% SR L 1
oV
iz 8
RER TR 2 1
=

At




- . -
B OB L F B BN
e 3R A
R = i e

FB-1 yuyajyy
BER 7 5, 050m3/H X 3 ¢ 200V X 1. 5kW

=
F-B1-1 KIFm (IKERFHY)
BER 7 150 ¢ X 250m3/HX 1 ¢ 100V X 36W

=
F-B1-2 KIS (EEEE )
BER 7 100 ¢ X 100m3/HX 1 ¢ 100V X 22. 5W

=
F-B1-3 K (IKERFHY)
BER 7 100 ¢ X 150m3/HX 1 ¢ 100V X 22. 5W

=
F-B1-4 KIS (EEE &)
HEXT7v 200 ¢ X 200m3/HX 1 ¢ 100V X 36W

&
F-B2-1 KIm (KR
HERT 77 100 ¢ X 150m3/HX 1 ¢ 100V X 22. 5W
F-B2-2 KIFE (EER )
HEXT7v 100 ¢ X 400m3/HX 1 ¢ 100V X 46W

&
F-C-1 Ab=bymya
HERT7 77 200 ¢ X 750m3/HX 1 ¢ 100V X 150kW
F-C-2 KIFE (EERFET)
HEXT7v 100 ¢ X 150m3/HX 1 ¢ 100V X 22. 5W

&
F-C-3 KIm (KR
e 77 150 ¢ X 450m3/H X 1 ¢ 100V X 82W
AR e

a




BB T F O AR 11
ERREE Wik T (5) B 12l
% 7 1 o BoOR B | 4 R
A7 0. 5mn
R FRAR 89. 37
IE}T'25'7 k 0. 6mm
HHERERR ]4
Il’l2
AR V2N 100mm
(EJES 1) 12
AN ATV b 150mm
(KJES L) 139
m
AN AT )b 200mm
(EJES 1) 77
AN ATVET )b 250mm
(KJESIH) 49
VA% AN 7 AN 200 ¢
1
&l
JECEFR & 2 7 <— (100 ¢
(VD) 4
18
150 ¢
29
&l
200 ¢
19
18
250 ¢
6
1
400X 200
1
1
[Bhk & r3— 800X 300
(FD) 1
1
650X 200
1
1
600X 200
1
1
500X 300
2
&l
450X 300
2
1
350X 200
1
&l
100 ¢
2
1
150 &

22




EOPE L F & HHERNER 12
ZE PR rax L (5) ¥ h™ ) NERAR
z4 PR i % ¥ & LA il & #H i
200 ¢
12
1
250 ¢
5
1"
B9 & v o — 800X 300
(SD) 1
1
650 X 200
1
i
600X 200
1
1
500X 300
2
1"
450X 300
1
1
NSOV 150
(SUS) 6
1"
200 ¢
1
1
250 ¢
3
1"
GV 100X 100
1
1
GV 150X 150
10
i
GV 200X 200
11
1
GV 250250
4
i
GV 300X 300
2
1
GV 350X 350
1
1
GV 400X 400
1
1
Y=V UF g 7 a—Fiktn [E2 150 X 150
12
1
E2 200X 200
9
1
E2 250X 250




OB T % & MERINGER

e 3R A Hrax L () 5y~ 7 Nt fid
4 PR ] W B = HAL 4 #H fisi
E2 300X300
3
1
E2  350X350
1
18
E2 400X400
1
1
L= XYL [VHS 200 X 200
1
18
T o\ i Feftizz
1
=
HET v N — T
1
=
HK ARy 7 A i e
1
=
PRIBTE Feftizz
1
=
IEo 0 fifie IIES
1
=
FRER TR 2 IS
1

&




OB T % & MERINGER

22 S R Hrix T (6) 11 Bh fl i 5 fi
% g fii % BB HA B o #
B 0%
1

&




(NIES

e
4 L 15 2 B, % & | R OB M| & B e i
NI E fRflizz 1
1
=
AC-1 IR
SNVRALVERZETHIE  ABEREST 97 OKW IEBFERES) 1 47.0kW | A 4. 66000
Pafs
N ¢ t 1. 05000
FC-B1-1 RIHLIATE
Tyvagia=y bk |WEHES 5. 36kW BEFERET) 1 9. T9kV | A 3.72096
Pafs 136 /5 X213 X 1. 14X 1. 2
FC-B1-2 RFnty 277 R 5
Trvagna=y b |WEES 2. 02kW BEERES) 4. 13kW | A 3. 42000
Pafr L.25 N/B X2 X1. 14X 1. 2
FC-B1-3 Kty bJ5 A AL
Tyvadgiazy b |HHERE 3. TOKW BEFEEET) 1 6.80kW | A 11. 16288
SN 1360/ X6%4X1.14X1.2
FC-B1-4 Km0 A
Tyvadgiazy b |HEEES)  2.58kW BEEAES) 1 4. TRV | A 1. 62792
i LIGN/BEXTEXL 14X1. 2
FC-B2-1 RKIEhty b2 7 ik L
Tyvadgia=y k|[HEHES) 3. 08kW BEEAES) 5. 93kW [ A 6. 84000
WAt 125 /B X9 X 1. 14X 1.2
FC-B2-2 RIFHEAT
Tyragna=y b |BEES 3. T0kW BEERES) - 6.80kW | A 1. 86048
A L36A/BEX1HX1. 14X1.2
FC-B2-3 BV b A T
Ty vadgia=y k|HEES 3. 6TkW BEEEES) 1 6.T6kW | A 3.72096
HEfs L36A/AX2H X1 14X 1.2
FC-B2-4 KIHy b4 J7 1R H R
Tyvadgia=y bk |HEHES 3. TOkW BEEHES) ¢ 6.80kW [ A 1. 86048
IR 136 A/H X 1H X 1. 14X 1.2
FC-B2-5 Rty b2J5 R Y
Tyvagiazy b |HEES) 2. 02kW BBERES) - 413KV | A 1.71000
A L25 /A X1H X1, 14X 1.2
FC-C-1 RInty b2J5 ik A
Tyvagia=y k|HEHES) 3. 08kW BEEAES) 5. 93kW [ A 8. 55000
Pt 125 N/ X56H X1.14%X1.2
FC-C-2 FHhty 277 IR HiAY
Tryragna=y b |REE 2. 02kW BBERE) - 4. 13kW | A 10. 26000
At 125 A/ X675 X 1. 14X 1.2
FC-C-3 EJL b A A
Tyvagia=y h|HEES 7. 22kW BEEEET ¢ 13.52kW | A 6.27912
Pafs LB3IAN/BX3HX1. 14X 1.2
FC-C-4 KAty b2J7 k5
Trvadgia=y b |WEES 3. 92kW BEFERET : 8.00kW | A 5.58144
WA 1.36 /B X3H X 1. 14X 1.2
FC-C-5 BV R A B
Tyvadgia=y k|REES 3. 6TkW BEFERET) : 6.76kV | A 1. 86048
A 136 A/BX1AX1 14X1.2
FC-C-6 RIEty b7 A AL
Trvagna=y b |MEES) 5. 36kW BEERES) : 9. T9kW | A 1. 86048
P+ L36A/BX1HE X1 14X1.2
7




(NIES

et
4 by ] 2 BAL % & | F OF | OB i | & i fii
RS A ffiz 2
1
e
SRR ZE TR IBEXL2A/AEX115X1.2 1. 65600
IN
Tyrafia=y k|44HX0.08 /B X1, 15X 1.2 4. 85760

A

A




(NIES

ZE Tk

4 by ] % BAL % & | F OF | OB i | & | fisi
&Ry 7 A iz 3
1

%

S R v )4 0. 5mm 30. 13000
m2

0. 6mm 3.19000
m2
0. 8mm 1. 92000

m2

FRRIKH AR > 2 2 (0. 6mm 14. 32000
m2

F ¥ N— 1. Omm 9. 60000
m2

HENAEY 25mm 59. 16000
m2

7t
PRIE T Rffie 4
1

iy

INATVETIMRIR |7 IR B

(40K) TN FAIRA 87. 92000

PRIRIE25 m2

T




(NIES

ZE AL
4 B i} Uy B % & | ® R | H i | & B &#E (W
PRIR T 5 i 5
1
-
rFLv )7 GAY= BEAREAN
TV TR A 25mm 137.5
PRIEE25 m
IR =lal =S
TWBTFAIRA 32mm 66. 0
PRI 25 m
7 FAG= BB~
TV TAI A 40mm 29.6
PRIEE25 m
VAV EARAN
TV FAInA 50mm 9.7
PRIRJE25 m
rFrv VAR e
TV FAIRA 32mm 4.4
PRIRJE25 m
VAVYYS ] bk == = P i Y
TV GA N A 40mm 3.9
PRIEJFE25 m
VAV Y] B = o N 2
TV FAInA 50mm 8.0
PRI 25 m
7 FAG= 4R
TN FAIBA 50mm 4.0
PRIRIE25 m
7R ) GAYW EAEEA
TVINTTAIRA 20mm 431.7
PRIEE25 m
A2 =l =S
TV TAIuA 25mm 17.7
PRI 25 m
VA EHEEAA
TV TAI A 32mm 15.3
PRIRE25 m
VAV ] BARAN
TV FAInA 40mm 23.8
PRI 25 m
)7 IR B~
TN FAIRA 50mm 67.7
PRI 25 m
VY] EAREAN
TV TA A 65mm 35.7
PRIEE25 m
IR Bk == P i
TVIHT FAIRA 65mm 17.3
PRI 25 m
R VAN S e = B N R
TV FAIRA 25mm 9.6
PRIRIE25 m
i




(NIES

Ze TRl
4 b 1 2 HfAr) % & | ® | H M| & B | fii
100 fis % A& 6
1
K
a7 HRE BAYE/N Ay~ 100mm 6
i P
VN iR FARH4:
s 6
&
EA
(DS Esan:1 Rtz 7
1
&
Bl T2 Bl TFA R - T % 1
e
BRI iz 8
1
€
KLU 259mx 0. 018 A/mX 1. 15X 1. 2 6. 43356
A
WEIK 610mx 0. 018 A/mX 1. 15X 1. 2 15. 15240
A
KR 10mXx0.018 A/mX1.15X 1.2 0. 24840
A
é




(NIES

4 b 1 2 HfAr) % & | ® | H M| & B | fii
I ONITINE ¢ i 9
1
&€
vayalyy LAN/BXIE X1 14X1.2
A 1.91520
KHF 0.5 N/BX9EX1.14X1.2
A 6. 15600
Aby=bvmya 0.85 N/BEX1EX1.14X1.2

A 1. 16280

A




(NIES

k&7 B
4 by ] % HAL & = R i | & | fisi
T JE f 2 iz 10
1
e
3
T JE A il
0. 36 N/ X 3FLX 1. 14X 1.2 1.4774
A
é
HET ¥ o 3— ffizz 11
1
%
HET ¥ /3 — 0. 6mm 2.16
m2
HET ¥ 73— ]0.8m 6. 00
m2
HERRLED 8.16
m2
#t
S OR Y 7 A iz 12
1
%
SRR v A 0. 5mm 20. 22700
m2
0. 6mm 19. 71000
m2
0. 8mm 3. 42000
m2
HENALY 20. 84200
m2
H)
PRIE T Rffiz 13
1
iy
WA 7 NMRE |7 IR BEREAS0
(40K) TN FAIRA 89. 15000
RIRJE25 m2
AN ATV MR At BB
(40K) TN TR uA 34. 93250
RIRJE25 m2

T




(NIES

k&7 B
4 by ] % BAL % & | F OF | OB i | & i fii
o0 s iz 14
1
=X
a7 HRE B AYE/N hyd= 150mm 6
&t
aTkRE P AYEN Bk 200mm 1
& T
aTkRE PAYEN Bk 250mm 1
& T
VN AR FEARH
i ¢ 8
(15,
R A iz 15
1
%
L7 b 172. 67Tm2 X 0. 02 A /m2 X 1. 14X 1. 2 4. 72425
N
AN ATV b 275. 4m>< 0. 012 A /mXx 1. 14X 1.2 4.52097




NS

ETE
%4 R i Hir| # = BOH | & e 1
fRffiZk 15
ikt
7t
1T

Tyvafbazy Mt 1.25 A/ X0. 3% 84 4. 17600
X 1. 16X 1.2 A

57 Mk 0.22 A/m2X 0. 3% 39. 4m2 3.61976
0. 5mm|X1.16X1.2 A

PRIBM T E 0. 045 A /m2 X 0. 3% 39. 4m2 0. 74040
X1.16X1.2 N

HiEsE € 0.52 A /1 % 0. 3% 11 0.21715
CL-1000L|X 1. 16X 1.2 A

il D s 0. TA/f % 0. 3% 548 1. 46160
CL-2000L|x1.16X 1.2 A

LW S 0. 46 A/f X 0. 3 2{# 0. 38419
C2-#25|X1.16X1.2 A

Frun” -BOXHiE 0.25A/m2X0. 3% 18. 5m2 1. 93140
0. 8mm|X1.16X1.2 A

Frvn" -BOXHE 0. 22 A/m2X0. 3X2. 3m2 0.21131
0. 5mm|X1.16X1.2 N

SR ES 0. 045 A/m2 X 0. 3 X 20. 8m2 0. 39087
X 1. 16X 1.2 A

NV €S 0.208 A/m X0.3%5. Im 0. 44299
50A|X1.16%1.2 A

PSS 0. 166 A/m X 0. 3X4. 2m 0.29115
40A| X 1. 16X 1.2 A

AT 0. 151 A/m X 0. 3X6. 0m 0.37835
32AX1.16%1.2 A

[NIENE S e 0.123 A/m X 0. 3X47. 6m 2. 44496
25A| X 1. 16X 1.2 A

FRIEFAZE 50A ]0.020A/m X 0.3X5. Im 0. 04260
X1.16X1.2 A

RIEFA S 404 ]0.018A/m X 0.3X 4. 2m 0. 03157
X1.16X1.2 A

PR 324 ]0.017A/m X0.3X6. 0m 0. 04260
X1.16X1.2 A

RIEMZE 254 [0.016 A/m X0.3X47. 6m 0. 31804
X1.16%1.2 A

WIRAKE M E 0.208 A/m X 0. 3% 20. 5m 1. 78065
50A|X1.16%1.2 A




MIES 10
ETE
%4 R i % Hir| # = BOH | & e 1
IR % 0.166A/m X 0. 3% 10. 2m 0.70708
40A[X1.16X1.2 A
MR M 0.151A/m X 0. 3X5. Tm 0. 35943
32AX1.16%1.2 A
MR % 0.123A/m X 0. 3X78. 8m 4. 04755
25A| X 1. 16X 1.2 A
FRIEAMZE  50A  [0.020A/m X0.3X9. 4m 0.07851
X1.16X1.2 A
(RIEFA S 404 ]0.018A/m X 0.3X 4. 6m 0. 03458
X1.16X1.2 A
PRIEAZE 324 [0.017A/m X0.3X6.5m 0. 0461448
X1.16X 1.2 A
fRIEMZE 254 [0.016 A/m X0.3%11. Im 0.07417
X1.16%1.2 A
[ARAIETE /G 0. 09 A /1 X 0. 3% 2018 0.75168
25A| X 1. 16X 1.2 A
57 MMk 0.22A/m2% 0. 3% 27. Om2 2. 48054
0. 5mm| X 1.16X1.2 A
By Mk 0.24 A/m2X 0. 3% 30. 2m2 3. 0267648
0. 6mm|X1.16X%1.2 N
il O s 0. 44N/ T % 0. 3% 1A 0. 18374
HS-400X400|x1.16X1.2 A
Fyvn” -BOXH % 0.24 A /m2X0.3X 1. 8m2 0. 16537
0. 6mm|X1.16Xx1.2 A
PESEPEFEMAVET | USEE
syt
2T.[X
Tyvafvazy M 1.25 /8 X0.3X 6% 3. 13200
X1.16X1.2 N
HE T MEE 0. 22 /m2 X 0. 3X 32m2 2. 93990
0. 5mm|X1.16X1.2 N
PRI i 0. 045 A /m2 X 0. 3 X 32m2 0. 601344
X1.16X1.2 A
GiEANE: € 0. T/ X 0. 3% 6{8 1. 75392
CL-2000L|X1. 16X 1. 2 A
Fyyn” -BOXHi % 0.25A/m2X0. 3% 19. 9m2 2. 07756

0. 8mm

X1.16X1.2

A




MIES 11
ETE
%4 R i % Hir| # = BOH | & e 1
ESIERZE €S 0. 045 A /m2 X 0. 3% 19. 9m2 0. 37396
X1.16%1.2 A
[NIENE S e 0.208 A/m X 0.3X5. 0m 0. 43430
50A|X1.16% 1.2 A
[NENE S e 0.123 A/m X 0. 3% 15. 0m 0.77047
25A[ X 1. 16X 1.2 A
FRIEAMZE 504 ]0.020A/m X0.3X5m 0.04176
X1.16X1.2 A
fRIEFAZE 254 ]0.016 A/m X 0.3X 15m 0. 10022
X1.16X1.2 A
MR 0.123 A/m X 0. 3X23. 4m 1.20194
25A[ X 1. 16X 1.2 A
FRIEMZE 254 ]0.016 A/m X0.3%23.4m 0. 15635
X1.16X 1.2 A
[ARFIEIE /ES 0. 09 A\ /1 X 0. 3% 128 0. 45101
25A X 1. 16X 1.2 A
57 MMk 0. 22 A/m2X 0. 3X6. 3m2 0. 57879
0. 5mm| X 1.16X 1.2 A
GRS 0. 44\ /ff X 0. 3% 1{# 0.18374
HS—400 X 400 | X 1. 16X 1. 2 A
PEEFRIEM ML (I
W5y F
31T X
Tyvafazy M 1.25 /5 X0.3X8% 4.17600
X1.16%X1.2 N
B2y Mk 0.22 A/m2X 0. 3% 34. 8m2 3.19715
0. 5mm|X1.16X1.2 N
SR ES 0. 045 A /m2 X 0. 3 X 34. 8m2 0. 65396
X1.16X1.2 N
LS 0. 52 A /1 % 0. 3% 11§ 0.21715
CL-1000L|X 1.16x 1.2 A
& H s 0. TN/ X 0. 3% 5{8 1. 46160
CL-2000L|X 1. 16X 1.2 A
GEESARE €S 0. 46 A/f % 0. 3% 21# 0.38419
C2-#25|X1.16% 1.2 A
Fyyn” -BOXH % 0.25A/m2X0. 3% 18. 5m2 1.93140

0. 8mm

X1.16X1.2

N




MIES 12
ETE
%4 R i % Hir| # = BOH | & e 1

FrunT -BOX{E 0.22A/m2X0.3X2. 3m2 0.21131
0. 5mm| X 1.16X1.2 A

PRI i 0. 045 A /m2 X 0. 3% 20. 8m2 0. 39087
X1.16%1.2 A

[NIENE S e 0.151 A/m X 0.3X11. 5m 0.72516
32AX1.16%1.2 A

[NIZNE 2 ER 0.123 A/m X 0. 3X29m 1. 48958
25A| X 1. 16X 1.2 A

FREMZE 324 ]0.017A/mX0.3%11. 5m 0. 08164
X1.16X1.2 A

PRIEMZE 254 [0.016A/m X 0.3X29m 0.19377
X1.16X1.2 A

WHRKE 0.208 A/m X0.3%31. 8m 2.76217
50A|X1.16X1.2 A

WRAKE R 0.166.A/m X 0. 3X8. 2m 0. 56844
40A| X 1. 16X 1.2 A

AIRKE S 0.151A/m X 0.3X6. Tm 0. 42249
32A|X1.16X1.2 A

IR E i 0.123A/m X0.3X91.8m 4. 71529
25A| X 1. 16X 1.2 A

FRIEAMZE 504 ]0.020A/m X0.3%31.8m 2. 65594
X1.16X1.2 A

FRIEFAZE 404 ]0.018A/m X 0.3X8.2m 0. 06164
X1.16X1.2 A

RIEFAZE 324 ]0.0174/m X 0.3X6. 7Tm 0. 04756
X1.16X1.2 A

FRIEMHZE 254 [0.016 A/m X0.3%91.8m 0.61337
X1.16X 1.2 A

(ARFIEIE /ES 0. 09 A /{5l X 0. 3% 228 0. 82685
25A X 1. 16X 1.2 A

57 MMk 0.22A/m2% 0. 3% 53. 8m2 4.9427136
0. 5mm| X 1.16X1.2 A

[ ENSEES 0. 44\ /fH X 0. 3% 1{# 0.18374
HS—400 X 400X 1. 16X 1. 2 A

GRS 0. 33 A /fif X 0. 3% 6{# 1. 10246
HS-150 X 150X 1. 16X 1. 2 A

Frvn" -BOXHE 0.24 A/m2X0.3% 1. 8m2 0.16537
0. 6mm| X 1.16X1.2 N

Frun” -BOX{E 0.22A/m2X0. 3% 4. 2m2 0. 38586

0. 5mm

X1.16X1.2

A




MIES 13
ETE
%4 R i Hir| # = BOH | & e 1
PESEFEIEY) ML IR
syt
3-2T.X
Tyvafhazy M 1. 25 /5 X0.3X 6% 3.13200
X1.16X1.2 N
B4y Mk 0.22 A/m2X 0. 3% 20. 3m2 1. 86500
0. 5mm|X1.16X1.2 N
PRIEM 0. 045 A /m2 X 0. 3 20. 3m2 0.38148
X1.16X1.2 A
LW S 0. TA/M8 X 0. 3% 6{8 1. 75392
CL-2000L| X 1. 16X 1. 2 A
Frun" -BOXH 2 0.25A/m2X0. 3X19. 9m2 2.07756
0. 8mm|X1.16X1.2 A
PRIBA 0. 045 A/m2 X 0. 3% 19. 9m2 0. 37396
X1.16X1.2 A
KL B E 0.208A/m X 0.3X 4. 5m 0. 39087
50A|X1.16%1.2 A
PSS 0.166A/m X 0.3%1.2m 0. 08319
40A| X 1. 16X 1.2 A
KL B HE 0.151A/mX0.3X11.7m 0. 73777
32AX1.16%1.2 A
AT 0.123A/m X 0.3 X 15m 0.77047
25A| X 1. 16X 1.2 A
FRIEAM I 50A  [0.020A/m X0.3X4.5m 0. 03758
X1.16X1.2 A
(RIEFAE 404 0018 A/m X 0.3X 1.2m 0. 00902
X1.16X1.2 A
RIEFAZE 324 ]0.0174/m X 0. 3X 11. Tm 0. 08306
X1.16X1.2 A
PRIEMZE 254 [0.016 A/m X0.3X 15m 0. 10022
X1.16X1.2 A
RKE ik 0.123 A/m X 0. 3X24. 6m 1. 26357
25A[ X 1. 16X 1.2 A
PR 254 [0.016A/m X0.3X24. 6m 0. 16437
X1.16X1.2 A
[AREIEIS /ES 0. 09 A /{5l X 0. 3% 128 0.45101
25A X 1. 16X 1.2 A




MBS 14
ETE
%4 R i % Hir| # = BOH | & | 1
5y MMk 0.22A/m2%0. 3% 31. Tm2 2.9123424
0. 5mm| X 1.16X1.2 A
GiEASE: € 0. 33 A /{8 < 0. 3 X 6{& 1. 10246
HS-150 X 150X 1. 16X 1.2 A
Fyun' -BOXH 2= 0.22 A/m2X0.3X 4. 2m2 0. 38586
0. 5mm|X1.16X1.2 A
PEMEBEIEM PR ISR
Wyt
4T X
Tyvafvazy Mt 1.25 A/ X0.3X 185 9. 39600
X1.16X1.2 A
57 Mk 0. 22 A/m2X 0. 3X93. 3m2 8.5716576
0. 5mm| X 1.16X1.2 A
PRIBM T E 0. 045 A /m2 X 0. 3% 54. 1m2 1.01665
X1.16%X1.2 N
HilEsE € 0.52 A /1 % 0. 3% 11/ 0.21715
CL-1000L|x1.16X 1.2 A
HlR s 0. TA/f % 0. 3 15{# 4. 38480
CL-2000L|x1.16X 1.2 A
LW S 0. 46 A/f X 0. 3% 2{H 0. 38419
C2-#25|X1.16X1.2 A
Fyu/n —BOXHE 0.25 A/m2X0. 3X51. Tm2 5.39748
0. 8mm|X1.16X1.2 A
Frvn" -BOXHE 0.22 A/m2X 0. 3X 2. 4m2 0. 22049
0. 5mm|X1.16X1.2 A
ESEZEES 0. 045 A /m2 X 0. 3% 54. Im2 1. 01665
X1.16%1.2 A
KLU E 0.208 A/m X0.3X11.4m 0. 99021
50A|X1.16%1.2 A
KL B HE 0.166 A/m X 0.3 X 18. 7Tm 1. 29631
40A[X1.16X1.2 A
KL 0.151A/m X0.3X 11.6m 0.73147
32AX1.16%1.2 A
N2V 2 ER 0.123A/m X0.3X46. Im 2.36792
25A X 1. 16X 1.2 A
IRk 50A  [0.020A/m X0.3X11. 4m 0. 09521

X1.16X1.2

A




MIES 15
ETE
%4 R i Hir| # = BOH | & e 1

PR 404 ]0.018A/m X0.3X18. Tm 0. 14056
X1.16%1.2 A

RIEME 324 [0.017A/m X0.3X11. 6m 0. 08235
X1.16% 1.2 A

PRI 254 ]0.016 A/m X0.3%46. Im 0. 30802
X1.16%1.2 A

WEIRKE = 0.271A/m X0.3X42.9m 4. 85498
65A X 1. 16X 1.2 A

WHRKE 0.208A/m X 0.3X8. 3m 0. 72094
50A|X1.16X1.2 A

WIRKE L 0.166.A/m X 0. 3X6. Tm 0. 46445
40A| X 1. 16X 1.2 A

R E 0.151A/m X0.3%12. 9m 0. 81344
32AX1.16%1.2 A

MR 0.123A/m X 0.3X124. 5m 6. 39492
25A X 1. 16X 1.2 A

PRI 654 [0.0224/m X0.3%42.9m 0.39413
X1.16X 1.2 A

RIEAE 504 ]0.020A/m X0.3X8.3m 0. 06932
X1.16%1.2 A

IR 40A  [0.018A/m X 0.3X6.7Tm 0. 05036
X1.16%X1.2 A

RIEME 324 [0.017A/m X0.3X12.9m 0.09158
X1.16%X1.2 N

PRIEAAEIZE 254 [0.016 A/m X 0. 3X 124. 5m 0. 83186
X1.16X1.2 A

RIS 0. 09 A/ X 0. 3 401 1.50336
25A| X 1. 16X 1.2 A

77 Mk 0.22 A/m2X 0. 3% 108. 1m2 9.93136
0. 5mm|X1.16X1.2 A

77 Mk 0. 24 A/m2X 0. 3 19. 5m2 1.95437
0. 6mm|X1.16X1.2 A

AN ATIVE ) M 0. 133 A/mX 0. 3X6. 0m 0. 33324
0. 6mm|X1.16X1.2 A

[ ENSEES 0. 44\ /fH < 0. 3% 1{# 0. 18374
HS—400 X 400 | X 1. 16X 1. 2 A

HiESARE €S 0. 40 A /18 % 0. 3% 21# 0. 33408
HS—350 X 350X 1. 16X 1. 2 A

SR €S 0. 38 A/ % 0. 3x 2{A 0.31738
HS—300 X 300|X 1. 16X 1.2 A




MIES 16
ETE
%4 R i Hir| # = BOH | & e 1
GiEANE & 0. 33 A /18 X 0. 3% 118 0.13781
HS-200X200|X1.16X1.2 A
il s 0. 33 A/ X 0. 3X 9 1. 65370
HS-150X 150X 1.16X1.2 A
GiESARE €S 0. 39 A/ < 0. 3% 2& 0.32573
C2-#20| X 1. 16X 1.2 A
GiESARE €S 0. 39 A /{8 < 0. 3 1{& 0. 16286
C2-#15|X1.16% 1.2 A
GiEASE: &5 0. 39 A /{8 < 0. 3% 1{& 0. 16286
C2-#12.5|X1.16%1.2 A
5 1 BOXH = 0. 24 A/m2X 0. 3X6. 1m2 0.16537
0. 6mm| X 1.16X1.2 N
il & M BOX TR % 0. 22 A/m2X 0. 3X8. 9m2 0. 38586
0. 5mm|X1.16X1.2 N
PRIBA S 0. 045 A /m2 X 0. 3% 2. Tm2 0. 05074
X1.16X1.2 A
PE 3 BETEW) AL PR U s
Wy
SVALFEAHURLZE |4 66 A/A X0.3X 1A 1. 94602
X1.16X1.2 A
B2y Mk 0. 22 A /m2X 0. 3X 4. 6m2 0. 42261
0. 5mm|X1.16X1.2 A
77 Mk 0.24 A/m2X0. 3% 37. 3m2 3.73836
0. 6mm|X1.16X1.2 A
ESERZEES 0. 045 A /m2 X 0. 3 X 29m2 29. 00000
X1.16X1.2 A
Frvn" -BOXH 2 0.25A/m2X0. 3% 13. Tm2 1.43028
0. 8mm|X1.16X1.2 N
PRIBA 0. 045 A/m2X 0. 3% 13. m2 13. 70000
X 1. 16X 1.2 A
KLU E 0.151A/m X 0.3X2. 4m 0.15134
32AX1.16%1.2 A
RIEME 324 [0.017A/m X0.3X11. 6m 0. 08235
X1.16X1.2 N
BE3 7N ES 0. 12A/1 % 0. 3% 11 0. 05011
50A|X1.16X1.2 A




MIES 17
ETE
%4 R i % Hir| # = BOH | & e 1
RKE 0.271A/m X0. 3% 16. 3m 1. 84466
65A[X1.16X1.2 A
LIRS 65A  [0.022A/m X0.3X16.3m 0. 14975
X1.16X1.2 A
A E 0. 16 A /{8 < 0. 3 1{& 0. 06682
50A|X1.16X1.2 A
HOF % 0. 28 A/fH X 0. 3 2{H 0. 233856
65A| X 1. 16X 1.2 A
R E 0.148 A/m X 0.3X9.2m 0. 56860
25A| X 1. 16X 1.2 A
PR 254 [0.016 A/m X0.3X9. 2m 0.06147
X1.16X1.2 A
R 0. TTA/f X 0. 3% 1{f 0. 04594
15A[ X 1. 16X 1.2 A
[ARAIETE /G 0. 09 A/ < 0. 3% 2& 0.07517
25A[X1. 16X 1.2 A
PESEBEIEMALER ISR
Wy

&l




